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Suggested answers to Test 4b

Section A

	Question
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Answer
	D
	C
	D
	C
	C
	B
	B
	C
	A
	C


Section B

1. 
A takeover occurse when a firm acquires more than 50% of the shares of another firm. The firm being acqured may still keep its own name. (2)

A merger takes place when a firm buys up 100% of the assets of another firm, which is then dissolved and loses its corporate status. (2)

2.  Yes, she is running a firm. (1)

It is because a firm is a business unit where people make decisions about production. Miss Yeung has make production decision to provide a service of private tuition at home. (2)

3.  a)It is a public corporation. (1)

It is owned by the government but independent in finance and management.(2)

b)It is operating in a monopoly. (1)


 It is the only seller of train service in the market without close substitutes. (2)

c) There is one seller and many buyers

  Information is imperfect

  It is impossible for other firms to enter the market ( 1 marks each)

   d) (i) It is lateral Integration. (1)

Bus service and train service are different but related as both of them provide transportation service but not competiting directly. (2)

(ii) -economies of scale, e.g. financial economies, technical economies, m
arketing economies

-product diversification, reduce risk

-resources can be better utilized, reducing production cost

-build up brand name, promote goodwill (any 2, 2 marks each)

